7T(x)+5f (%j:x+l

t = 24xf (x)

dt

= =2
dx

x=-1/7

Solution

We have, 7f(x)+5f (ljzx+l .......... (A)
X

Replacing x by i 7f (lj 5f(x) :l+1 ........... (B)
X X X

(A) + (B) yields, 12{f(x)+ f (lﬂz x+1+2
X X
1 x 1 1
o f flo|=—+—+— ...
(0 + (xj 12+12x+6 ©

(A) - (B) yields, 2{ F(x)— f (lﬂ -
X X

f(x)-f(ljzf—i .......... (D)

X 2 2X

7x 5 1

C D) yields, 2f (X)) =———+=

(Q) + (D) yields (x) 2 12x 6
fpg=X_ 5 L
24 24x 12

Now, t = 24xf (x) = 7x* =5+ 2x

&

=14x+2| =0
X x=-17
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